m Ranbow mat e

5x6= 3x2-= 10,20,30,________ (18 -4 =

4x6= 3x9-= 25,50, ,100 (7 4+ 7 =

16 =2 X 70+10= 100,95,90,______ (8 +9 =

2x7-= 20=4 x 24, _.8._____ [17-5=

6+3= 25 +5= 5,15,25, 0+6=

18 + 3 = 11x4 = 30,27,24, _ +18=120

4 x =44 (12x10= 4,8,12,16 19 -7 =

10 x 8 = 3 X =27 |13,5, 3+13=

7x5= 7x4-= 7,17,27,37, _____ |120-11=

60+5= 90+ 10 = 20,40,60, 1+ =12
x10=0 |9x2= 10,9,8,7, 16 -5 =

16 +4 = 4x3-= >,10,1520,_  (19-12=




m Ranbow mat e

4x3= 12 +3= 24, _.8.___  (18-14-=

2x12= 18=2x 25,50, +8 =12
X3 40 + = 5120,40,60, 15-12 =

3 X 10x5= 30,27,24, 9+0-=

100+ 10 = 3x2-= 4,8,12,16 11+4=

60 +10= 21 +3 = 10,20,30,_______ |6 + =11

48 + 4 = 20+ 2= 1,3,5, 9+9-=

12x2 = 7x5= 7,17,2737,__ |11-3 =

8x5= 2x3= 10,9,8,7, 3+13=

11x10= 11 x5= 100,95,90,_____ 6+ 7=

14 + 8x4= 510,1520,_ (14 -1=

2Xx8= 5x5= 5,15,25, 16 - 5 =




